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RiL | BHE | e Fea | sam Fas | w
1 |=HYE 4 65.0 4 65.0 | 65.00
—EBE 4 65.0 3 65.0 | 65.00
M H 4 65.0 3 65.0 65.00
R 0 58 % 4 65.0 3 65.0 | 65.00
5 |[EREE 4 65.0 4 64.5 64.75
6 |B3iL/NATH 4 64.3 3 65.0 64.60
1 |FEEESE 4 63.8 3 65.0 64.31
8§ |[AKRaA=LR 4 63.5 4 65.0 64.25
9 |EHEH 4 63.3 4 65.0 64.15
10 |JFEE= 3 62.3 5 65.0 63.99
11 | KEBEE 3 62.3 4 65.0 63.84
12 [FE# 5 62.8 3 65.0 63.63
13 |43 3 60.0 4 65.0 62.86
14 |E#HERX 4 60.5 4 65.0 62.75
15 |B8EXE 3 60.7 4 63.9 62.53
16 [H&T 4 58.5 4 65.0 61.75
17 [1XE€YE 3 63.7 4 47.9 54.67
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1 |[REEES 8 400 1 | E8EX 7 350

JFEBEE 8 400 EEYiE 7 350
3 |ZEHEEHE 8 394 XEESE 7 350
4 | REEZE 8 393 4 |WH 7 347
5 |FL&T 8 392 5 HiL/NATY 7 345
Y HES 8 388 6 |BRFDELZE 7 344
1 | =HYE 8 368 7 (eI 7 343
8 |[FEH 8 360 8 |=EBEE 7 342
9 |HXKa=X 8 357




